SHSE (FEE) AXET7MIEEE EmMZERE
NXENTE RIS [1ERCERTR RE |REHRH| & B RE |HEAD|&mTH
EREFER] NXEIT7AILE RS |F£&EE)| 58 | #E | #&TH B4 BT [ R | OBE| E &
71 3] 4 |ROIBEHMEGEERE) BEEZENZE| RSEE | R641 | 5 F | R11.331 [ERZERE| HBFEE Foig BRE
o[ 3| 3 [REIBEHEMHNEGRIES) EEmZERE| ROEE | R641 | 54 | R11.3.31 [BMZERE| #HE=E R BRE
» 13| 4 |ROEEEIINNES M ZERE| RAEE | R641 | 54 [ R11.3.31 [BEZERE| #E=E g BRE
| 3| 3 |RoFRIEEIINELE e Z=E| RSEE | R641 | 54 [ R11.331 [BBAZEZE| $hiE=E 4 BE
71 3| 4 |EBEEELEEME M ZEERE| RAEE | R641 | 54 [ R11.3.31 [BAZRE| #E=E g BRE
2| 3|3 BRIEEXEEHME ERZERE| RSEE | R641 | 54 | R11.3.31 [BHZERE| #E=E 4 BE
D[ 7] 0 |ROREERRERE M ZERE| RAEE | R641 | 54 [ R11.3.31 [BAZERE| #E=E g BRE
71 0[ 0 [ROEEBESNHER EEZEmE| RSE R6.1.1 | 1 4 | R6.12.31 BRI ZERE| K= iR BRE
71 0| 0 [RAIFEBEMNDEERME BEHZRE| RSE R611 | 14 | R6.12.31 |[EEAZEERE| #$HES g BRE
7| o] 5 [R5GFERALIEE EEZEmE| RSE R6.1.1 | 5 4 |R10.12.31 |[lEFZRE| K= iR BRE
71 0| 7 [RoENIEHREREES BEHZRE| RSE R6.1.1 | 10 % |R15.12.31 |[EEA ZERE| #$HE= i BRE
70| 7 [EAERRIZEHFZRE ERZREl EH XE | XE | FFE [BEFRZRZE| BEE iR BRE
7142 [RoAXEHLE BEHZRE| RSE R61.1 | 14 | R6.12.31 |[EEAZERE| #$HES g BRE
7! 4] 2 [REESHESE EEZmE| RSE R6.1.1 |30 4E [R35.12.31 [lEE Z R ZE| HKE=E K BRE
74| 2 [AXETF7MILEES ERZREl EH AE | XE | XT |EREZERE| JEE iR BRE
74| 2 [ROBE-EEE EEZmE| RSE R6.1.1 |30 4 [R35.12.31 [lEE Z R ZE| HKE=E K BE
74| 2 [XEFEE ERZREl EH AE | XE | XT |EREZERE| JEE iR BRE
7 4] 2 [MEXEERE ERZREl EH XE | XE | FT |[BEEZERE| IEE iR BRE
74| 2 [MEXEEEE ERZREl EH AE | XE | XT |EFEZERE| BJEE iR BRE
71 4] 4 [ROEFBXEXLEE EEZmE| RE R6.1.1 [ 14 | R6.12.31 |BEHIZRE| #IF=E K BEE
71512 ROLIRAE __[BEEwE] RGE | R611 | 34 | Re.1231 [MEMERE| HBE | #f | BER
7 6 5 Rﬁ?;?%ﬁb‘{Tjii?(nB%yjﬁ(Tm:ljj)%iﬂf E%ﬁ%$§ R5£|E R6.1.1 3ﬂi R8.12.31 E:%[ﬂ%g% ?ﬂf’%? 'l{f&& E%ﬁ
7| 6| 5 |RoEERIEE EEZmE| RE R6.1.1 | 5 4 [R10.12.31|[EEZERZE| K= iR BRE
71 7] 0 [Ro%EBEEHKRITE BEZmE| RSE R6.1.1 | 1 5 [ R6.12.31 [EERZERZE] #iF= 1R RE
71 7] 4 [RoinESR EEZmE| RE R6.1.1 |30 4 [R35.12.31 [EE Z R ZE| HKE=E A BRE
719 [ 3 [RoNERECERIEMAEIRTE BEZmE| RSE R6.1.1 | 5 F [R101231|[EERAZERZE] #iF= 1R RE
719 | 3 [RoNERECERIER - In RFHFHHLE BEHZRE| RSE R6.1.1 [ 54 |R10.12.31 |EBEEIZRE| #IF=E Faig BRE
71 9|3 [ROVNAEFTEEHREEE EEHZRE| RE R6.1.1 | 54 |R10.12.31 |EEAZEERE| $hKE=E iR BRE
719 ] 3 [EAFRENERERE ERZNEl EH XE | XE | XT |ERERE| BEE 1R BRE
7 [10] 1 [ROZEREZERESEE BHZxRE| RE R6.1.1 [ 10 &£ [R15.1231 | EFAZRE| IEE b BEE
7[10] 2 [REZREHGESEEZNE BEHZRE| RSE R6.1.1 | 34 [ R8.1231 [EMZERE| #BEE iR BRE
7 11| 1 |[ROBGARFE (E8) & BERHZRE| RE R6.1.1 | 14 | R6.12.31 |[EEREIZERE| #IE=E 1R BRE
7111 | 1 [REEEANKRIEE—E BEHZRE| RSE R6.1.1 [ 14 | R6.12.31 |BEHEIZRE| #IFE Faig BRE
7111 1 [RoMEEE RS HE BEHZRE| RE R6.1.1 | 14 | R6.12.31 |[EEREIZERE| #IE=E 1R RE
7112 1 [REABERBES BEHZRE| RSE R6.1.1 | 14 | R6.12.31 [EERZERZE]| #iF5= Foig BEE
7 12| 1 [ROEFEZEE BEHZRE| RE R6.1.1 | 14 | R6.12.31 BRI ZERE| #IE=E R BRE
7 [ 12] 1 [RofEEREERE BEHZRE| RSE R6.1.1 | 34 | R8.12.31 |[EEfAZEERE| #HFES Foig BRE
7 12| 1 [ROZERLLIFKZETE BEHZRE| REF R6.1.1 | 34 | R8.12.31 BRI ZERE| #iF=E 1R BRE
4| 0] 0 |R5@EE BEHZRE| RSE R6.1.1 | 34 | R8.12.31 |[EERIZERE| #IFE K BRE




SHSE(EE)ANEI7MILEEE

BEZEEE

AXENE RIRE |FRERE T B | BE ETH
ERIEREE AXET7AILE B |4 () HES | B OE| # =
] 1]4|EBRER BEZ®E| Ro& 1 % BHESE| BB | & | 5%
([ 2|1 [RosnBetms BEERE| Ro&E 3 & BRERE| spzs | & | Be
7123 |[ReuEHR BEERE| Ro&E 1% BREZSE| 5Bz | & | Be
A 2 [ 4 [RoBBEESHE BEERE| RoAE % BRESE] bz | & | e
I3[0 [RoBBATHEE BEERE| Ro& 5% BREZSE| 5Bz | & | Be
1] 3]0 [RoABHmEGRE BAERE| RER 5% BRESE] bz | & | e
(13| 1 [BBasE BEE=E| =8 % | *z [BME=E| sB: | 4 | BE
AN BRERE| =H % | *z [BME=E| 5B | & | BE
ARERN BEE=E| & k% | kz [BME=E| wB: | @4 | BE
4] 2 RorBrEEE BRE=E] RoE 5 & BRE=E] bz | & | e
14 2 |RoMARE BEZRE| Ro&E 5% BAE=E| BBz | # | 5E
4] 2 [RoBBERED BEE=E| Ro& 5% BRERE| BBz | & | 5%
(4|3 [RomEannE BEZRE| Ro&E 5% EHE=E 7as05] BF | BE
5[4 RooREs BEE=E| Ro& 5% EMEnE| OBE | M | BE
5[5 [RokBbkRE BEERE| RER 5% BRERE| BBz | & | 5e
15[ 5 [Rofrrefe BRMESE| RAERE 5% EMEnE| 9B | M | B2
1155 |RomdiE BEZERE| RER 5% BRE=E| BBs | # | 5e
5[5 REERERE BRMESE| RAERE 5% BRERE| 5Bz | & | 5%
(155 |BETS2EE BEE=E| =M EY BRE=E| BBs | # | 5e
5[5 [GETR2S BRE=E| = e BRERE| 5Bz | & | 5%
155 ABTSare BEEmE| =8 ey BRE=E| sBs | # | Be
5[5 [HaRETruzeE BRE=E| BH ey BRESE| 5B | & | 5%
A7 0 RABREE GNP ERAER BEERE| RER i BRE=E| BBz | # | 5e
71 [EmeEns BRE=E| =M EY BMEnE| 9B | M | B2
172 RoB i BEZRE| Ro& 1 % BREnE| 9BE | & | B2
A7 2 [RoEmBELEORE BEESE| RER 15 BRE=Z Fa 05 7 | BE
7 2 [RoEBheE Rlaara BRERE| RER 6 & BREnE| 9BE | B | BE
A7 2 [Zmh—F BME=E| BH e BMEnE| 9B | & | B2
172 [BraRoRReRE BRERE| RER 1 % EREZSE| BBz | & | BE
(73 [ReBEEaxhARE BEE®E| Rok & BMEnE| 9pE | M | B2
41 7] 3 |REXEAmIEETIGREEE BHZxRE| RE 15 BHRZERE] BBE BEE
7173 [RREELER BEEmE| Ro&E 5% BEE=E| HB= EE
(7] 4 REBESERE __—_ |BmERE| Ro& % BAERE| HAS %3
1| 7| 4 [DERREFAIIERRRORINEENS |mmums| rog | & BREEE $BE BX
AR S S S T BEERE| Ro& 2% BEERE| DBS X
A7 4 [RoEEHMHE BREEE] RoE 2% BRERE| HAS % 3
A 74 [ReERELANE BEERE| Ro& 3% BEE=E| HBS EE
ARG T 3 BREEE] RoE 3% BAERE| HAS % 3
1 7 4 [RoEREE B R BEE®E| Ro& 3% BEERE| HBS EE




SHSE (FEE) AXET7MIEEE EmMZERE
BNXENFE RIS [1ERCERTR RE |REHRH| & B RE |HEAD|&mTH
EREFER] NXEIT7AILE RS |F£&EE)| 58 | #E | #&TH g4 BT [ R | OBE| E &
41 7] 4 |ROEFEZEDIESEEREFESER BEHZRE| RSE R6.1.1 | 34 | R8.12.31 |[EEfAZEERE| #HFES Foig BRE
141 7 [ 4 |E2HEHEE ERZREl A RXE | XE | XT |EFZERE| JEE R RE
41717 |ReBIEEMRENFEREE (FLE) BEHZRE| RSE R6.11 | 14 | R6.12.31 |[EEfAZEERE| #$HES g BRE
14 110] 2 |RSEEEZIETFH EEHZRE| REF R6.1.1 | 54 |R10.12.31 |[EEAZERE| #HESE 4R RE
74| 2 [AXEIF7MILEES ERZREl EH AE | XE | XT |ERERE| BEE 1R BRE
74| 2 [xXE%ESE ERZREl A RXE | XE | XTE |[EFZERE| JEE R BRE
7] 4] 2 [REANXEHELE BEHZRE| RSE R6.1.1 | 14 | R6.12.31 |[EERIZERE| #IFE g BRE
719 3 [EAFREAEHERE ERZRE| EH XE | XE | XTE |[EFZERE| IEE R BRE
71 9 [ 3 [RoNEREERIEAEIRTE BEHZRE| RSE R6.1.1 | 54 |R10.1231 |[EEAZERE| $FKE=E g BRE
71 9| 3 [RoYMERECERIEAR-InRFHFHEHLE EEHZRE| REF R6.1.1 | 54 |R10.12.31 |[EEAZERE| #HESE 4R RE
7193 [RAFEFTEFKEEE BEHZRE| RSE R6.1.1 | 54 |R10.12.31 |[EEREZERE| #IF=E 1R BRE
41 7] 0]|F54JLa—4%— ERZREl EH AXE | XE| XF |EWMERE| HHA BF | BE
141 8]0 |REENREBEEHKL-KY BEHZRE| RSE R61.1 | 14 | R6.12.31 |[EEAZERE| #$HES g BRE
1] 8| 0 |REEBEEHDEEKRT EEZmE| RSE R6.1.1 | 1 f | R6.1231 [BEEZRE| JEE iR BRE
1] 8| 0 |REEZEEERESEHZR BEHZRE| RSE R6.1.1 | 1 & [ R6.12.31 [EERAZERZE] #iF5= 1R BRE
1] 8| 0 |REHIZBHBRES EEZmE| RSE R6.1.1 [ 34 | R8.1231 [ERZRE| IKEE iR BRE
4| 8] 0|R5BE BEHZRE| RSE R6.1.1 | 34 | R8.12.31 |[EEAZERE| #HES g BRE
11 8|0 |BEMRBEESIR ERZRE EH XE | XE| XTF |ERERE| BEE iR BRE
1] 8| 0 |REFEEEHERIEES EEEZERE| RSEE | R641 | 54 [ R11.3.31 |EEMZEE| $HhiEE 1R BRE
4] 8] 1 |R5KER e ZeE| RSEE | R641 | 5 4F [ R11.331 [BBAZERE| $hiExE #E BRE
4| 8] 1 |REEHEESR ERHZRE| RSEE | R641 | 54 [ R11.331 [BMERE| $HEE K BRE
1] 8 [ 2 |REFEEERE EEZmE| RE R6.1.1 | 1 | R6.12.31 |BEMZERE| BEE A BRE
1] 8| 2 |REHFHBDIEMRKBREE 10 R/ BEZmE| RSE R61.1 | 14 | R6.12.31 |[EEAZERE| #$HES K BRE
1] 8| 2 |RoBBEME—FTAREE EEZmE| RE R6.1.1 [ 14 | R6.12.31 |EERZERE| $IFEE iR BRE
1] 8| 2 |REEHEGREERE BEHZRE| RSE R6.1.1 | 34 | R8.12.31 |[EEAZERE| #HES K BRE
4] 8] 2 |RSAEE EEZmE| RE R6.1.1 | 34 | R8.12.31 |EERZERE| HIFEE iR BRE
1411 8] 2 |IR¥FFIEFEZFIETE (R HES BEHZRE| RSE R6.1.1 | 34 | R8.12.31 |[EEAZERE| #HES K BRE
1] 8| 2 |IRoBEMEFFIFHEERES EREZRE| RE R6.1.1 | 3£ | R8.12.31 |BEMEZERE| BEE iR BRE
4| 8| 2 |REESFEFIFEA BEEZmE| RSE R6.1.1 | 54 |R10.12.31 |[EEREZERE| #IE=E iR BRE
1] 8|2 |[RoEBEEERAITAIEES EREZRE|( RE R6.1.1 |10 & [R15.1231 [BEAZRE| BEE iR RE
48] 2 |REFIRALIITER EEHZRE| RE R6.1.1 |10 &£ |R15.12.31 |EEA Z=E| $hKE=E iR BRE
11 8|2 |IRoEBEEEREFRA - REFINEE EREZ=E| RE R6.1.1 |10 &£ |[R15.12.31 | ZERE| PE=E iR BRE
18] 2 |REBEEBEERLE EEHZRE| RE R6.1.1 | 10 &£ |R15.12.31 |EEA Z=E| $hKE=E iR BRE
4| 8| 3 |R—HREZEE BEHZRE| RSE R6.1.1 [ 34 | R8.12.31 |BEHIZRE| #IFE Faig BRE
4 [ 8| 3 |Ro4FRIEZETEE BEHZRE| RE R6.1.1 | 34 | R8.12.31 |EEAZEERE| $hKE=E #® BRE
1] 8| 3 |RE¥FRIEZEFE EREZmE| RE R6.1.1 | 3£ | R8.12.31 |BEMEZERE| BEE iR BRE
1] 8| 4 |BEMHEBERES ERZREl A RE | XE | XT |EFZERE| IEE R RE
4] 2 [ AXEI7MILEEE ERZREl EH RXE | XE | XT |ERERE| BEE iR BRE
7142 [ROAXEHLE ERHZRE| REE | R641 | 14 | R1331 [(BMERE| $hEE iR BRE
74| 2 [XEFE ERZRE EH XE | XE | XT |ERERE| BEE A BRE




SHSE (FEE) AXET7MIEEE EmMZERE
BNXENFE RIS [1ERCERTR RE |REHRH| & B RF T B
EREFER] NXEIT7AILE FrEA |FEE)| £58 | #M| BTH g% 1ol DEE| B &
718 |1 [RMEEEHFTERRER EERZERE| ROEE | R641 | 34 | RI331 [BHZERE| $HE=E Foig BRE
718 |1 [REEEEEXERERE EEmZERE| ROEE | R641 | 54 | R11.3.31 [BMZERE| #HE=E R BRE
718 |1 [BEZHEAZS ERZREl EH XE | XE | XT |ERERE| BEE 1R BRE
78| 1 [RAEFRIENFERTE BHZRE| RE R6.1.1 | 5 4 |R10.12.31 [lEFZRE| K= 4K RE
71 8|1 [RoEBHEEBERZE BEHZRE| RE R6.1.1 | 54 |R10.1231 |[EEAZERE| $FKE=E g BRE
7| 8| 2 [RBEFZHHR—k ERZRE| RSCEE | R641 | 14 | R1331 [BRZERE| $HhEE Foig BEZE
71812 R5$i%1%ﬂ§l:ﬁ£l'9“é§fﬁ - BEHZRE| RSE R6.11 | 24 | R7.12.31 |[EEAZEERE| #$#ES #E BRE
78] 2 %‘F’)E%%Bﬁ"&%éE*E(*&1%@%"'¥Wéa EEMZRE| REF R6.1.1 | 44 | RO.12.31 |EEMAERE| #$HiEE # BE
78] 2 [RomKRRICEHT HE5E EEHZRE| REF R6.1.1 | 34 | R8.12.31 BRI ZERE| K= 4 BE
71 9 [ 3 [RoNERECEREMAEIRTE BEZmE| RSE R6.1.1 | 54 |R10.12.31 |[EEAZERE| #$HES i BRE
7| 9] 3 [RoSERECEXIEAFIRE EEZmE| RSE R6.1.1 | 5 4 [R10.12.31|[EEZERZE| K= iR BRE
719 | 3 [RoSERECERIER - InKFFHEHLE BEZmE| RSE R6.1.1 | 54 |R10.12.31 |[EEAZERE| #$HES g BRE
7193 [RONFAEFTEEHKEEE EEZmE| RSE R6.1.1 | 5 4 [R10.12.31[EEZERZE| K= iR BRE
4] 5] 0 |ReAEFEFDEENE BEHZRE| RSE R6.1.1 | 5 & [R101231|[EEREZERZE] #iF= 1R BRE
14| 5| 0 |ReEEFEBHERRES EEZmE| RSE R6.1.1 | 7 & |[R12.1231[EEEZERZE| K= iR BRE
15| 4 |ROEHESEGSE BEHEEE| RAEE | R641 | 54 [ R11.331 [BEZERE| #$hiE=xE foig BRE
4] 5] 4 |REBHBEELES e ZRE| RSEE | R641 | 54F [ R11.331 [BBAZEZE| $hiE=E iR BRE
115 ]| 4 |ROEEBEFAHHEEES ERHZRE| RSEE | R641 | 5% [ R11331 [BMZERE| $EE g BRE
4] 5] 4 |EAMFLUCEIETTRE ERZxEl EH AE | XE | XTF |ERERE| BEE iR BRE
4| 7] 0 |R5@EELE BEHZRE| RSE R6.1.1 | 5 F [R101231|[EERAZERZE] #iF= Fis RE
11 7] 0 |REEFEEREFBITHETCA—FEZ EERZRE| RSEE | R641 | 54 [ R11.3.31 [BHZERE| $HhE=E Foig BEE
41 7] 0 |REENAVILIRAI—FEHE ERHZRE| RSEE | R641 | 54 [ R11331 [BMERE| $EE K BRE
» | 0] 0 [R5EIHEE e ZeE| RSEE | R641 | 54F [ R11.3.31 [BBAZERE| $hiE=E P BRE
[ 1| 3|REFERUEFNE BEHEEE| RAEE | R641 | 34 [ RI33 [BEZERE| #$iE=xE Foig BRE
5|1 3] 1 [REEAEER e ZeE| RSEE | R641 | 1 £ | R7.3.31 [BBRAZERZE| $hiE=E iR BRE
23 1 |[RoFABGRIRE-FIES ERHZRE| RSEE | R641 | 54 [ R11.331 [BMERE| $HEE K BRE
| 3| 1 |REIFEFEINGEE (RF) UK EAE EERZRE| ROEE | R641 | 54 [ R11.3.31 [BHAZERE| $hE=E Faig BRE
o[ 3] 1 [REIBLHEIHKE ERZRE| RSEE | R641 | 54 [ R11.331 [(BMERE| $hEE iR BRE
2|13 |1 |[EHEEES ERZNEl EH XE | XE | XT |ERERE| BEE iR BRE
o[ 3] 3 [REFHEER ERHZRE|( REE | R641 | 14 | R1331 [BEMERE| $EE iR BRE
2| 3| 3 |REZHEAFRIRE -SINEFR (THHETRZRO (B ZERE| RYFEE | R64.1 | 5F | R11.331 |BEMZERE| PEB=E Faig BRE
71 3| 3 |ROZHBEFRIRE -FIAVERE (TEHRITRD BEHEEE| RAEE | R641 [ 10 F | R16.331 [BEEZERE| #iE=xE A BRE
2| 3|3 |[EABZBSOEE ERZNEl EH AXE | XE | XT |ERERE| BEE iR BRE
2| 3|5 |RoMRITMSE -FERE ERHZRE| RSEE | R641 | 54 [ R11.331 [(BMERE| $EE A BRE
» | 3] 6 |RoKRITEISE EERZERE| RSEE | R641 | 54 [ R11.3.31 [BHAZERE| $#hE=E Foig BEE
73] 9 |ROBABRENIREEER ERHZRE|( REE | R641 | 14 | R1331 [(BMERE| $EE iR BRE
71 3]9 |IRBABHNEREZAE B ZERE| ROEE | R641 | 54 [ R11.3.31 [BBZERE| #E=E Foig BRE
71 3]9 |IROBABHNRELEE BERZRE| RSEE | R641 | 54 [ R11.331 [(BAERE| $hEE iR BRE
24| 0 |RYERAEMEBC SR B ZERE| ROEE | R641 | 54 [ R11.3.31 [BBZERE| #E=E g BRE




THSE(FE)AXET7MIVEEE BEERE

BNXENFE RIS [1ERCERTR RE |REHRH| & B RE |HEAD|&mTH
EREFER] NXEIT7AILE RS |F£&EE)| 58 | #E | #&TH g4 BT [ R | OBE| E &
H | 4] 0 |R5@:FEEE BEHZRE| RSE R6.1.1 | 34 | R8.12.31 |[EERIZERE| #IFE Foig BRE
o4 1 |REBAELE ERZRE| RSEE | R641 | 34 | R3S [(BMERE| $HEE iR BRE
D1 4] 2 |IROMBERER)E M ZERE| RAEE | R641 | 54 [ R11.3.31 [BEZERE| #E=E g BRE
7 4| 3 |ROYAEEE(HN) BEFEEEER) BEHEERE| RAEE | R641 | 54F [ R11.331 [BEZERE| #iE=E 4R RE
214]3 [REE ERZREl EH AE | XE | XT |ERERE| BEE 1R BRE
2| 4| 3 |YWAERE ERZREl A RXE | XE | XTE |[EFZERE| JEE R BRE
o] 4] 3 |REMPEEERFE M ZERE| RAEE | R641 | 54 [ R11.3.31 [BAZERE| #E=E g BRE
| 4] 3 |REMFEHEIHRE EERZRE| RSEE | R641 | 54 [ R11.331 [BHZERE| $HhEE Foig BEZE
~ 1 4] 3 |ROMGABEREHRIRE M ZERE| ROEE | R641 | 54 [ R11.3.31 [BMZERE| #E=E g BRE
24| 3 |ROBEEBEHEDRERE EERZRE| RSEE | R641 | 54 [ R11.3.31 [BHZERE| $HhEE Foig BEZE
Dl 4] 4 [HRIERE ERZREl EH AE | XE | XT |EREZERE| JEE 1R BRE
2144 WEERE ERHZRE| EH XE | XE | FT |[BERZERE| JEE iR BRE
~ 1 4] 4 |ROYGBERIBRE ERHZRE| RSEE | R641 | 5% [ R11331 [BMZERE| $EE g BRE
2| 4] 4 REYBTELGEBSREE e ZE| RSEE | R641 | 54F [ R11.331 [BBAZERZE| $hiE=E iR BRE
7| 4] 4 |[REYGEIRIHNE ERHZRE| RSEE | R641 | 5% [ R11331 [BMEZERE| $EE g BRE
D 4] 4 |REBREE e ZE| RSEE | R641 | 54F [ R11.331 [BBAZERZE| $hiE=E iR BRE
~ 1 4] 7 |REAHGBUDREE ERHZRE| RSEE | R641 | 54 [ R11.331 [BMZERE| $EE g BRE
o 4] 7 [REEEEESIME e ZRE| RSEE | R641 | 54F [ R11.331 [BBAZEZE| $hiE=E iR BRE
51 5] 0 [R5@:EEE BEHZRE| RSE R6.1.1 | 34 [ R8.1231 [BERAZERZE] #iF= 1R BRE
o[ 5] 0 [REALBIES e ZeE| RSEE | R641 | 1 £ | R7.3.31 [BBRAZERE| $hiE=E A BRE
2152 |EATEEESR ERZREl EH AE | XE | XT |ERERE| JEE 1R RE
H| 5] 3[NEEEE ERZxE EH XE | XE| FT |[EEZERE| IEE iR BRE
2[5 3 |AEFEH ERZREl EH AE | XE | XT |ERERE| JEE 1R RE
253 | EATERHESE ERZxE EH XE | XE | FT |[ERZERE| JBE iR BRE
25 4 |[AEHESE ERZREl EH AE | XE | XT |ERZERE| JEE 1R RE
2[5 4 |REVNEHEEHRESE EERZERZE| RSEE | R641 [10 4| R16.3.31 [BEAZERE| #HEE iR BRE
o | 5] 4 |[EZEESER ERZREl EH AE | XE | XT |EREZERE| JEE 1R RE
o[ 5] 4 |RoEZEIE—HE B ZERE| RAEE | R641 | 54 [ R11.331 [BEZERE| #iE=E Faig BRE
| 5| 4 [ITHEESEREASE ERZREl EH AE | XE | XTE |EFZERE| JEE iR RE
| 5 | 4 |R6ITIEREAZE(FE Aol — A% M ZEERE| RAEE | R641 | 54 [ R11.3.31 [BEZERE| #iE=E Faig BRE
2[5 4 |ROTTEBAEFERFARES HEEZERE| RGEE | R641 [ 54 [ R11.331 [EEMAZERE| xR 1R BRE
9| 5| 4 |[FTHRBEEHER ERZREl EH AE | XE | XT |ERERE| BEE iR BRE
71 5| 4 |ROITHEBAEE 22— ERZRE| RSEE | R641 | 54 [ R11.331 [(BMEZERE| $hEE iR BRE
» 15| 4 |ROITHEIEENRESE M ZEERE| RAEE | R641 | 54 [ R11.3.31 [BEZRE| #iE=E Faig BRE
2 7] 0 |REZHERBRNERESE BEHZRE| RE R6.1.1 | 54 |R10.12.31 |EEAZEERE| $hKE=E #® BRE
H] 7] 0 |REANEEE EERZERE| RSEE | R641 | 54 [ R11.3.31 [BHAZERE| $#hE=E Foig BEE
Hl 7] 1|REBEREEER BERZRE| RSEE | R641 | 54 [ R11.331 [(BMERE| $HhEE iR BRE
H] 7] 1 |REBEERIREE BEHERE| RAEE | R641 [ 54 [ R11.331 [BEZERE| #$hHERE Foig BRE
o[ 8] 0|RELREHE ERZRE| RSEE | R641 | 34 | R3S [(BMERE| $HEE iR BRE
71 8] 0 |REEYEHEE - AEES B ZERE| ROEE | R641 | 54 [ R11.3.31 [BBZERE| #E=E g BRE




SHSE (FEE) AXET7MIEEE EmMZERE
BNXENFE RIS [1ERCERTR RE |REHRH| & B RF T B
EREFER] NXEIT7AILE RS |F£&EE)| 58 | #E | #&TH g% 1ol DEE| B &
» 18| 0 |RELXE—EE BEHEEE| RAEE | R641 [ 34 [ R33N [BEZERE| #$hWEE Foig BRE
— 18] 0 |REBYME—ESRE BEHEEE| RAEE | R641 | 34 | RI33 [BEZRE| #iE=E iR BRE
7| 8| 0 |R5ELY. HEMZEE EERZRE| ROEE | R641 | 34 | RI331 [BBHZERE| $#E=E g BRE
7| 8| 0 |ROEEMEZILE EERZRE| RSEE | R641 | 54 [ R11.3.31 [BHZERE| $HhEE Foig BEZE
| 8] 0 |[REELYEZRSIHFE FERZERE| ROEE | R641 | 34 | RI331 [BHAZERE| #HE=E g BRE
| 8| 0 [REELYENRTEIENEREE e ZE| RSERE | R641 | 34 | RO.3.31 |[BBMAZERE| $HhiE=E R BRE
7| 8| 0 |[ROEFHIMERLSEEREYH—ES FERZERE| ROEE | R641 | 34 | RI331 [BHAZERE| #$HE=E g BRE
78| 0 |RHEFHIEELEEEREYHRBRHES BEHEEE| RAEE | R641 | 54F [ R11.331 [BEZERE| #iE=E Foig BEZE
| 8| 0 |ROEHMEERIEFRIZEEE B ZERE| RAEE | R641 | 14 | R7.3.31 [BEZERE| #E=E g BRE
7| 8| 0 |ROEFMEREIZREFIEES ERZRE| RSEE | R641 | 14 | R1331 [BRZERE| $HhEE Foig BEZE
H | 8] 0 [REEFEEEN ERZRE|( REE | R641 |14 | R1331 [BMEZERE| $EE i BRE
1 81 0 [R5:@EN{KEE e ZmE| RSEE | R641 | 1 £ | R7.3.31 [BBAZEZE| $hiE=E iR BRE
| 8| 0 |[REBLYEEIZREL ERHZRE| RSEE | R641 | 34 | RI33 [BMERE| $EE g BRE
» | 8| 0 |RERE -EREERZ e ZE| RSEE | R641 | 54F [ R11.331 [BBAZERZE| $hiE=E iR BRE
~ | 8| 0 |RERXRIE—MFFEYIES BEHEEE| RAEE | R641 | 1 & [ R7.331 [BEZERE| #$hiExE g BRE
o[ 8] 0 [R/NIFERRF e ZE| RSEE | R641 | 54F [ R11.331 [BBAZERZE| $hiE=E iR BRE
74| 2 [XEFEE ERZREl EH AE | XE | XT |EREZERE| JEE 1R BRE
Tl4a] 2 [AXEIO7AILEEE ERZREl EH XE | XE | FT |[BEEZERE| IEE iR BRE
7142 [RoAXEHLE BEHZRE| RSE R61.1 | 14 | R6.12.31 |[EEAZERE| #$HES g BRE
71 9| 3 [RoNEREERIEAEIETE EEZmE| RE R6.1.1 | 5 4 [R10.12.31|[EEZERZE| K= iR BRE
71 9| 3 [RoSMERECERIER - InKFFEHLE BEHZRE| RSE R6.1.1 | 54 |R10.12.31 |[EEAZERE| #HES K BRE
71 9|3 [RFAEFTEEEEEE EEZmE| RE R6.1.1 | 5 4 [R10.12.31|[EEZERZE| K= iR BRE
719]| 3 [EAFREAEHEEE ERZREl EH AE | XE | XT |ERERE| JEE 1R RE
7 12| 1 [ROZERLLMFXZHEHE EEZmE| RE R6.1.1 | 34 | R8.12.31 |EERZERE| HIFEE iR BRE
I 1|1 [ROIUBEEREFAIIEIENRTL BEHZRE| RSE R6.1.1 | 14 | R6.12.31 |[EEAZERE| #$HES K BRE
I[1] 2 [ROEMXEMEBEGILFHRZSEZRESE [EBRIZWE| RSEE [ R641 [ 3F [ RI331 |BWEZERE| MEE iR BRE
I | 1|3 [RotXFFILIHEEZRESE BEHZRE| RSE R6.1.1 | 5 F [R101231|[EERAZERZE] #iF= 1R RE
I | 1| 4 [RoMhigBAICEARFIEIRREZRESE BEHZRE| RSE R6.1.1 [ 30 £ |R35.12.31 [EERZERE| #HIFE Faig BRE
I | 1[4 [RothEEHILERI—EX EEHZRE| RE R6.1.1 [30 £ [R35.1231 BB ZERZE] #iF=E iR BRE
I 1]5 |[FEOETEREEMERZR ERZNEl EH AXE | XE | XT |ERERE| BEE iR BRE
I [ 1] 6 [ROFIEEFHILHASU AT L ERZREl EH RXE | XE | XTE |BEREZERZE|#57405| BF | BE
T | 2| 2 [RoIREH—FiGEH BEHZRE| RSE R6.1.1 [ 54 |R10.12.31 |BEEIZRE| #IFE K BRE
T| 5] 5 [REREEEZS EEHZRE| RE R6.1.1 | 30 % |R35.12.31 |[EEA ZERE| #HES iR BRE
I[3]0[ROIABEEHRBESE EREZ=E| RE R6.1.1 | 1 f | R6.12.31 |BEMZERE| PEE iR BRE
I[3]0[ZREEERI—F ERZREl EH RXE | XE | XTE |EFZERE| JEE 1R RE
I[4] 2 [REFEE MRMBEEEHREEREHE(F) EEEZEsE| REE | R641 [ 1 £ 7.331 |[BBEZRE| $FE=E A BRE
I 42 [HEMREEREKEXBRLEE ERZRE| EH RE | XE | XT |EFZERE| IEE R BRE
IT[4] 2 [HRMEEEREEEHE ERZREl EH RXE | XE | XT |ERERE| BEE iR BRE
I| 4|3 [REEBTEEEMKBEEERHE ERHZRE| REE | R641 | 14 | R1331 [(BMERE| $hEE iR BRE
I[4]3[REE BEHESBIEEXHEE (6HF) R ZRE| RSEE | R641 | 5 F [ R11.331 [BBRAZERE| $hiExE A BRE




THSE(FE)AXET7MIVEEE BEERE

NXENFE RIS [1ERCERTR RE |REHRH| & B RE |HEAD|&mTH
EREFER] NXEIT7AILE FrEA |FEE)| £58 | #M| BTH g4 BT [ R | OBE| E &
I[4]3 [BEERBEEXREE(ERH) ERZREl EH XE | XE | XT |ERERE| BEE iR BRE
IT[4] 3 [ EENBEEENTER ERZREl A XE | XE| XE |ERZEE| JBEE R RE
I| 4|4 (REE FRESRESBEEXBRLES EERZRE| RSEE | R641 | 14 | R7.331 [BEZERE| $#E=E g BRE
I[4] 4 [ FEREFRESKESELEER ERHZRE| EH XE | XE | XTE |[EFZERE| IEE R BRE
I[4] 4 [FRBEERENBEEEZRHE ERZREl EH AE | XE | XT |ERERE| BEE iR BRE
I|6]| 1 |BEREXHTEIR ERHZRE| EH XE | XE | XE |ERZEE| JBEE Foig BEZE
I|6]| 2 |[REETYVEXEHE FEmZRE| RSEE | R641 | 14 | R7.331 [BHAZERE| $#E=E g BRE
T|6]| 2 |REE HYMEEXRFE(GH) ERZRE|(REFE | R641 | 54 [RI1.331 (BEEZRE| JEE | REE
I| 6|2 |[EYHBYb>EAXEREEE ERZREl EH AE | XE | XT |ERERE| BEE iR BRE
I[6]| 2 [HYEELHHEE(ER) ERZxE A XE | XE| XE |ERZEE| JEE iR BRE
I[6] 2 [HYEXHTEE ERZREl EH AE | XE | XT |ERERE| JEE iR BRE
I| 6|3 [REE FeXEHER(BH) e ZE| RSEE | R641 | 54F [ R11.331 [BBAZERZE| $hiE=E iR BRE
I[6]|3[FEEBEHAIK ERZREl EH AE | XE | XT |EREZERE| BJEE iR BRE
IT| 71 [ROBHEERE WDEIE B ZEE| R | R6.1.1 |30 4 [R35.12.31 [EEMZRE| KR 4 S
I| 7| 1 [RoEFAEFEFFIEIR(BE) BEHZRE| RSE R6.1.1 | 34 | R8.12.31 |[EEAZERE| #HES K BRE
T |7 (1 [RERIETFIXGEN EEZmE| RSE R6.1.1 | 5 4 [R10.12.31[EEZERZE| K= K BRE
I |71 [REE BERHEOHE) ERZRE|( REE | R641 |14 | R1331 [BMZERE| $EE K BRE
I[7]1[REE HBERHEGHE) e ZRE| RSEE | R641 | 54F [ R11.331 [BBAZEZE| $hiE=E K BRE
T(7 |1 [NRERRERE ERZRE wEH AE | XE | XT |EFEZERE| BJEE iR BRE
T|[7] 1 [(REEE EHZRE| EH XE | XE | FT |[ERZERE| IEE iR BRE
T 7 (1 [5EEEE ERZREl EH AE | XE | XT |ERERE| JEE iR RE
I 7|1 [#raEmErasik (ER) ERZxE EH XE | XE| FT |[EEZERE| IEE K BRE
I 7] 1 [ENsEAEEER ERZREl EH AE | XE | XT |ERERE| JEE iR RE
|71 [SRNEESEZER ERZxE EH XE | XE | X¥F |ERERE| BEE K BRE
I[7 |1 [ A\GBRBEIRETLIESR ERZREl EH AE | XE | XT |ERZERE| JEE iR RE
|7 |1 [DEEIEREE ERZxE EH XE | XE | FT |[ERZERE| IEE K BRE
|71 [EESEREEH—F ERZREl EH AE | XE | XT |EREZERE| JEE iR RE
|71 [EEFEEH—F ERZNEl EH XE | XE | XT |ERERE| BEE iR BRE
I| 7|2 [REEFETIHEXRMEIR EEHZRE| RE R6.1.1 | 54 |R10.12.31 |EEAZEERE| $hKE=E iR BRE
I[8 |1 [REE KNEHRERHEONSE) e ZeE| RSEE | R641 | 1 £ | R7.3.31 [BBRAZERE| $hiExE A BRE
T8 |1 |ROEFEE KEHBAFHHE(SF) EMZERE|RSEE | R641 | 54 |RI11.331 (BEAZERE| JEE | BEE
T8 [ 1 [RENEFEEIIEROE) BEHEZsREl RE R6.1.1 [ 14 | R6.12.31 |BEHEIZRE| #IFE K BRE
T8 ]| 1 [KkEELERER ERZREl EH RXE | XE | XTE |EFZERE| JEE 1R RE
I| 2| 1 [RITAHTEHEEREZRES BEHZsRE| RE R6.1.1 [ 34 | R8.12.31 |BEHIZRE| #IFE Faig BRE
I|(2 |1 [TATHEREERESE ERZxE ®EH XE | XE | XE |ERZEE| JEE iR RE
T 2] 1 [FROASHE ERZNEl EH XE | XE | XTF |ERERE| BEE iR BRE
I 2|1 [FTATHEXRRERRERES ERZRE| EH XE | XE| XE |ERZEE| JBEE R BRE
T|11]| 1 [REEZIGESEIERE BEHZRE| RSE R6.1.1 | 54 |R10.1231 |[EEAERE| $FEE Foig BRE
IT|11]| 1 [REEEBERAEE EEZmE| RSE R6.1.1 [ 34 | R8.12.31 |ERZRE| $IFEE iR BRE
|11 1 [RERN—H—FZE BEHZRE| RSE R6.1.1 | 34 | R8.12.31 |[EERIZERE| #IFE K BRE




SHMSE(EE)ANET7AILEEE EmMZERE
NXENTE ERENE |ERENE RE |REHRH| & B RE |HEAD|&mTH
EREFER] NXEITFAILE RS |F£&EE)| 58 | #E | #&TH B4 BT [ R | OBE| E &
T[12] 0 [BEEBEILERS BEREZERZE| RSAE R6.1.1 [ 54 |R10.1231 |[ERZERE| KX b BRE
I(12] 2 [BLHLEEENREEES ERZRE EH RXE | XE | XT |EFZERE| JEE 4K RE
I [13[ 1 [RoEHEEFEEZER BEHZRE| RSE R6.1.1 | 34 | R8.12.31 |[EERIZERE| #IFE g BRE
I [13[ 1 [REBEEZFEFEZER EEZEmE| RSE R6.1.1 | 34 | R8.12.31 BRI ZERE| K= iR BRE
I|5]| 1 [RDEYR— I A—EEBRR BEHZRE| RSE R6.1.1 | 14 | R6.12.31 |[EERIZERE| #IFE g BRE
I [5] 1 [REASAHLRYIRBEERE EEZEmE| RSE R6.1.1 | 1 [ R6.12.31 [EERIZERZE] #iE=E iR BRE
IT| 5] 1 [REOFREEERGIER BEHZRE| RSE R6.1.1 | 34 | R8.12.31 |[EERIZERE| #IFE g BRE
I|5]| 2 [ROOEFEEHIETEETER EEHZRE| RE R611 | 14 | R6.12.31 |[EEAZERE| #HESE 4R RE
I| 5|2 [ROVDFEBHRESERERER BEHZRE| RSE R6.1.1 | 34 | R8.12.31 |[EERIZERE| #IFE g BRE
I| 52 [RoDVDEEHENRTE EFZ=E|( RE R6.1.1 | KFE | X¥F |[BERZERZE| BEE iR BRE
IT[5] 3 [IbEYXIE ERZREl EH AE | XE | XT |EREZERE| JEE #R BRE
|53 [DEIFH ERZEE| EH XE | XE | FT |[BERZERE| JEE iR BRE
I[5]3[VEMHEE ERZREl EH AE | XE | XT |EFEZERE| JEE iR BRE
I |[5] 3 [{#nmEER ERZEE| EH XE | XE | FT |[EEZERE| JEE iR BRE
I| 5|7 [ROIIAREESHIIAERGTERE BEHZRE| RSE R611 | 14 | R6.12.31 |[EEAZERE| #$HES K BRE
|5 |7 |E RNERAAATERERLSHR \pmung| wm | xr |%2| sz |BEZEE apz | £ | B
T|5)| 8 |ROEEDERNER EEMZmE] RE | R611 | 14 | R6.1231 [BEFAZERE| BKEE A ES
|58 [ REEFHBHRSR ERZEE| EH XE | XE | FT |[BEEZERE| JEE iR BRE
IT[5] 8 [MEHZIES ERZREl EH AE | XE | XT |ERZERE| JEE iR RE
T| 9|5 RGN SRERRES EEZmE| RE R6.11 | 14 [ R6.12.31 [EEEZERE| BKE iR BRE
IT|9[5[REEHZRFEESECTEE BEZmE| RSE R6.1.1 | 14 | R6.12.31 |[EEAZERE| #HES K BRE
I[9]|5[RELFEREEESHE EEZmE| RE R6.11 | 14 | R6.12.31 [EEZEE| SKEE iR BRE
I| 9|5 [RETRIBESEEEE BEZmE| RSE R61.1 | 14 | R6.12.31 |[EEAZERE| #HES iR BRE
T|9[5 [ROINFEFHZIEE EEZmE| RE R6.1.1 |30 4 [R35.12.31 [EE Z R ZE| HKE=E K BRE
T]| 9| 5 [REFEHE BEHZRE| RSE R6.1.1 | 54 |R10.12.31 |[EEAZERE| #$HES iR BRE
I[9]|5 [ROZERANREHIEEE EREZmE| RSE R6.11 | XE | XF [BEFZRZE| BEE iR BRE
T| 9| 5 [REEHIEES BEHZRE| RE R611 | RFE | XTF |EWMERE| K= iR BRE
T|[ 9] 5 [RoGIRERE EREZ=E| RE R6.1.1 | XF | X¥* |[ERZERE| PEE A BRE
ZEEC A SRR, A S A = IE s .
T|o |5 [PEFLRELEAS ERERENIER lamuns| ror | R | RE| RE (BEERE| WBZ | £ | BX
T| 9|5 IMVpHRES ERZREl EH AE | XE| xT |[EFZERE| 3EE b RE
IT[9o]| 5 [(IinpHEEE ERZREl EH AXE | XE | XT |ERERE| BEE iR BRE
T | 9|5 [GIAMpHHmE ERZREl EH AE | XE | XTE |EFZERE| IEE 1R RE
T[o]| 5 [BEFTEEREELE ERZNEl EH XE | XE | XTF |ERERE| BEE iR BRE
I 9|6 [REFIEIBERES BEEZmE| RSE R611 | 14 | R6.12.31 |[EEAZERE| #HESE iR BRE
T| 9] 6 [RoFRIEINHET BEHEZERZ|] RE R6.1.1 | 54 |R10.1231 |[EEAERE| $FEE b BRE
7142 [BXETFAIVEEE ERZRE| EH XE | XE| XF |EREZERE| BEE iR BRE
74| 2 [XEFE ERZRE EH XE | XE | XT |ERERE| BEE A BRE




SHSE (FEE) AXET7MIEEE EmMZERE
BNXENFE RIS [1ERCERTR REHE| & B T B
EREFER] NXEIT7AILE B4 |E£&EE)| £%88 T H iR DEE| B &
71 4|2 [REAXEHLE BEHEsRE| RE R6.1.1 R6.12.31 |#E[H] ZEE K BRE
7 19| 3 [RESNERGEEEAREIRTE EEZmE| RSE R6.1.1 R10.12.31 |EFZRE ES iR BRE
719 | 3 [RESERECERIEIK - im R FFHIE BEHZRE| RSE R6.1.1 | 54 [R10.1231 BRI ZERE = g BRE
79| 3 [REVAFAEFEINESIEE EEZEmE| RSE R6.1.1 | 5 F [R10.1231|[EERZER=E = iR BRE
719] 3 [EAFRENAEHEETE ERZREl EH XE | XE| XT |EWMERE = 1R BRE
7 12| 1 [REZERLLHAXZETE EEZEmE| RSE R611 | 34 | R8.12.31 |[EEAZERE = Foig BEZE
Z | 0| 0 IRERIER DR BAZRZE| RSEE | R641 [ 54 [RI1.331 [BEAZERE = | BEE
41 0] 0 |RENEIEBEIR EHZE=Z| RoEE | R641 | 5 F | R11.331 [EMERE = iR RE
A 0] 0 |BEE-BHERSE BEHZRE| RSE R611 | 34 | R8.12.31 [EEAERZE = g RE
A1 0] 2 |R5 HEBZEREIAR (B #HR-HEER) EEHZRE| REF R611 | 34 | R8.12.31 |[EEAZERE = 4R RE
A1 0] 2 |RE HEIZEEFIRR (FEIR) BEHZRE| RSE R6.1.1 | 5 4 [R10.1231[EEREZERE = 1R BRE
A1 0|3 |XRE-BHAEMESER ERZREl EH AE | XE| XT |EWHERE = iR BRE
A1 1] 4 [R5 #7F:t BEHZRE| RSE R611 | 14 | R6.12.31 |[EEfAZERE = g BRE
1| 4 |RE B%A: BEEZERE] RE [ R611 | 15 [R6.1231 [EMERE ES 1R BEE
A 1] 4 |R5 LEEFER BEHZRE| RSE R611 | 14 | R6.12.31 |[EEfAZERE = g BRE
A1 1[4 ]|F54TJLa—%— ERZREl EH AE | XE| XT |EWHERE BF | BE
A 1] 5|R5 EHEHEE BEHZRE| RSE R611 | 14 | R6.12.31 |[EEfAZERE = g BRE
Z1 1[5 |R5 SIWHEHaRERBREE BERZRE| RE R6.1.1 | 14 | R6.12.31 [BEMZRE ES Fois BRE
A1 [ 5|Rs EEBAREEESEEIEE BEEZmE| RSE R611 | 14 | R6.12.31 |[EEfAZERE = #K BRE
A1 1[5|R5 B LAERESEEHE EEZmE| RE R6.1.1 | 1% | R6.12.31 BB ZRE = iR BRE
A1 1[5 |R5 HIRIEBESEEEE BEZmE| RSE R6.1.1 | 14 | R6.1231 [EEREZERZE ES Fis RE
A1 1] 5|R5 NREHZHEE EEZmE| RE R6.1.1 |30 Z£[R35.1231 [EER B = = iR BRE
A 1[5 |R5 LEEHUEE BEHZRE| RSE R6.1.1 | XE | XFE |EREZRE = K BRE
#] 1] 5 |R5 HEHE EEZmE| RE R6.1.1 | 5 F [R10.1231|[EERER=E ES P BRE
A1 1[5|R5 EHIEESE BEZmE| RSE R6.1.1 | X | X¥F |[EFZERE = 1R RE
A1 1] 5 (IYHREE ERZxE EH XE | XE| XTF |EWEZERE = iR BRE
A1 1] 5 (I EESE ERZxRE EH AE | XE| XT |EWHERE = K RE
A 1] 5 ZEHEihE ERZNEl EH XE | XE| XT |EWEZERE = iR BRE
A1 1[5 |EEFEEEELE ERZREl EH xE | XE| XF |EHZERE = iR RE
#1131 |R5 ILEEB#EAERE BEHZRE| RSE R6.1.1 [ 14 | R6.12.31 |BEMZRE = K BRE
A 3] 2 |R5 KEEREHRE EEHZRE| RE R611 | 14 | R6.12.31 |[EEfAZERE = iR BRE
A1 4| 0]|R5 FEEREERILE EREZ=E| RE R6.1.1 | 1 £ | R6.12.31 [BEEZRE = A BRE
A1 4[0|R5 FEEREEFE—ER ERZRE| EH RXE | XE| XT |EWHERE = 1R RE
#1 4| 3|R5 EFHBESTHE EREZ=E| RE R6.1.1 | 1 £ | R6.12.31 [BEEZRE = iR BRE
143 | BEBSFRE—ER ERZREl EH AE | XE| XT |EWHERE = 1R RE
Al1] o |[BEABESESEE EREZ=E| RE R6.1.1 | 1 | R6.12.31 [BEEZRE = iR BRE
74| 2 [AXEHELE BEHZRE| RE R611 | 14 | R6.12.31 |[EEAZERE ES iR BRE
4] 2 [ AXEI7MILEEE ERZREl EH XE | XE| XT |EWHERE = iR BRE
74| 2 [XEFXF5E ERZREl A XE | XE| XT |EWERE = 1R RE
719 3 [EAFREAEHEEE ERZRE EH XE | XE| XT |EWMERE 3 A BRE




SHSE (FEE) AXET7MIEEE EmMZERE
BNXENFE RIS [1ERCERTR RE |REHRH| & B RF T B
EREFER] NXEIT7AILE FrEA |FEE)| £58 | #M| BTH g% 1ol DEE| E &
71 9| 3 [Ro4EFECEXIEAREIETE BEHZRE| RSE R6.1.1 | 54 |R10.1231 |[EEAERE| $FEE Foig BRE
7| 9| 3 [Ro4\ERECERIEARFIRE BEHZRE| RE R6.1.1 | 54 |R10.12.31 |[EEAZERE| #HESE iR BRE
719 | 3 [RESERECERIEIK - im R FFHIE BEHZRE| RSE R6.1.1 | 54 |R10.1231 |[EEAZERE| $FKE=E g BRE
79| 3 [REVAFAEFEINESIEE EEZEmE| RSE R6.1.1 | 5 4 |R10.12.31 [lEFZRE| K= iR BRE
711 [RERERFE(EE)R BEHZRE| RSE R6.11 | 14 | R6.12.31 |[EEAZEERE| #$HES g RE
712 1 [ZELEHERZEE ERMZ=RE] RE | R61.1 | 34 | R8.1231 [BEAZRE| PKEE | REE
Alo]| 5 |[EABSERI—FX _ I ERZREl EH AE | XE | XT |ERERE| BEE A BRE
| 1| o [EFRHLESES. WES. RENE prnuns| re | R | XE| FE [BEERE WBE | £ | EX
Al 1| 0 |REEIKEEKE EEHZRE| REF R6.1.1 [ 54 |R10.12.31 |[EEFZERE| HIFEE Foig BEZE
Al 1] 0|REEHE BEHZRE| RSE R6.1.1 | 54 |R10.12.31 |[EEAZERE| #$HES i BRE
Al 1|0 |RESILEE=HZES EEZmE| RSE R6.1.1 | XE | kT |[EBEZERE| IEE iR BRE
Al1 |0 [BEFEELELE ERZREl EH AE | XE | XT |EFEZERE| JEE iR BRE
Al 1] 0 REEHEHEE EEZmE| RSE R6.11 | XE | kT |[EFZERE| HEE P BRE
A 1] 0 |REEE BEHZRE| RSE R6.1.1 | 54 |R10.12.31 |[EEAZEERE| #$HE= g BRE
A 1|0 [REEHAE)EEE (S 3 ) |BEEZmE| RSE R6.1.1 | 5 4 [R10.12.31|[lEEZERZE| K= iR BRE
Al 1| o [GIYHRES ERZREl EH AE | XE | XT |ERERE| JEE iR BRE
Al 1| o [GIWHEEIEE ERZREl EH XE | XE | FT |[BEEZERE| IEE K BRE
Al 1| o [GEsEHHRE ERZREl EH AE | XE | XT |EREZERE| JEE iR BRE
Al 1] 0 FIWETEHSBRERRES EEZmE| RE R6.1.1 [ 14 | R6.12.31 |EERZERE| HIFEE K BRE
Al 1] 0 [BFEEBENEYEEES ERZxE wEH AE | XE | XT |ERERE| JEE iR RE
A1 o|AFEEEE ERHZRE| EH XE | XE | XE |ERZRE| JBEE iR BRE
A 1] 0 [DNAREFTEHAERES ERZREl EH AE | XE | XT |ERERE| JEE iR RE
Al 1|0 REEEHZFERESEES EEZmE| RE R6.11 | 14 | R6.1231 [BEFZERE| HEE iR BRE
Al 1|0 |REELAETERESECTES BEZmE| RSE R6.1.1 | 1 5 [ R6.12.31 [EERZERZE] #iF= 1R RE
Al 1| 0|RSHEIHEBEEEES EEZmE| RE R6.1.1 [ 14 | R6.12.31 |EERZERE| HIFEE iR BRE
Al 1| 0 DLEFEZREES BEZmE| RSE R6.1.1 | 1 5 [ R6.12.31 [EERZERZE] #iF= 1R RE
Al 1|0 |EEEHEANRENT -BREFHRE BEHZRE| RSE R611 | 1 4 | R6.12.31 [EEAZERE| #HEE Faig BRE
Al 1] 0 |[EANBESEEEE BEEZmE| RSE R6.1.1 [ 14 | R6.12.31 |ERFZRE| IFEE iR BRE
A1 1] 0 |REHABRRHURE)EEE BEHZRE| RSE R6.1.1 [ 54 |R10.12.31 |BEEIZRE| #IFE Faig BRE
Al 1| 0 RS- REEEHIERES EEHZRE| RE R6.1.1 [ 14 | R6.12.31 |ERFZRE| IFEE iR BRE
Al 1|0 |HFE-REEEERSIRE BEHZRE| RSE R6.1.1 | 5 4 [R10.1231|[EEREZERZE]| #iF=E Faig BRE
Al 1|0 |FE-REEHREREERS BEEZmE| RSE R6.1.1 | 54 |R10.12.31 |EEAZEERE| $hKE=E iR BRE
Al 1| 4 |EREREHERE-ZHE - HAERE EREZ=E| RE R6.1.1 | XF | X¥* |[ERZERE| IEE iR BRE
Al 1|5 |FEEREIETE -HRE BEEZmE| RSE R6.1.1 [ 14 | R6.12.31 |ERFZRE| IFEE #® BRE
Al3]0 %JEE’E%}E;--: S ERZNEl EH AXE | XE | XTF |ERERE| BEE iR BRE
Al 3|0 EHHREZEEE BEHZRE| REF R6.1.1 [ 14 | R6.12.31 |ERFZRE| $IFEE iR BRE
Al 6] 1 |R5#EE- ;HEF'*EH?F( B A RIRE) EREZ=E| RE R6.1.1 | XTFE | X¥ |[ERZERE| PEE iR BRE
A 7| 3 |IREEITHFRILEHER(RERERE) BEHZRE| RE R6.1.1 | 10 &£ |R15.12.31 |EEA ZERE| $HKE=E iR BRE
Al 7] 3 |REMKEHEEHES BEHZRE| RSE R6.1.1 | 54 |R10.1231 |EEAERE| $FE=E K BRE




SHMSE(EE)ANET7AILEEE EmMZERE
NXENTE ERENE |ERENE RE |REHRH| & B RE |HEAD|&mTH
EREFER] NXEITFAILE RS |F£&EE)| 58 | #E | #&TH B4 BT [ R | OBE| E &
H1 7] 3 |REEHELBLXBILIEEHICIRE BEHZRE| RSE R6.1.1 | 34 | R8.12.31 |[EEfAZEERE| #HFES Foig BRE
A8 | 1 |BIRERERR(RERERE) BEHZRE| RE R6.1.1 | 54 |R10.12.31 |[EEAZERE| #HESE iR BRE
A1 8|8 [LEFAI—FBER ERZREl EH XE | XE | XT |ERERE| BEE R BRE
2140 | REFEFHREREHREEE BEZEE] RFE | R611 | 14 [R6.1231 |[BBMZERE| HiEE poi BEE
Xl o] o |REEETHLE BEHZRE| RSE R6.1.1 |30 &£ |R35.12.31 |EEAERE| $FKE=E K BRE
x| 0] 5 |R-HAEREZREE EEZEmE| RSE R6.1.1 | 34 | R8.12.31 BRI ZERE| K= b BEZE
X1 0] 5 |RoEHBEERIER BEHZRE| RSE R6.1.1 | 34 | R8.12.31 |[EEAZEERE| #HES g BRE
| 1| 3 |RoIBIBEB THEERE EEZEmE| RSE R6.1.1 | 54 |R10.12.31 [lEFZERE| K= b BEZE
F| 2| 1 |RIRIBIEERUETE BEHZRE| RSE R6.1.1 |30 &£ |R35.12.31 |EEAZERE| $FKE=E g BRE
| 2| 1 |RIEHUEREHZES EEZEmE| RSE R6.1.1 |30 4E |R35.12.31 [lEF Z R E| K= iR BRE
X 2| 2 |IRIBERNGEERSF/ERNLIEE EREZ=E| REF R6.1.1 [30 &£ [R35.1231 B ZERZE] #iF=E 1R BRE
x| 2| 2 |[RoIEESES (LIE)E EEZmE| RSE R6.1.1 |30 4E [R35.12.31 [lEE Z R ZE| K= Fois BRE
x| 2| 3 |5EFHAEKE ERZREl EH AE | XE | XT |EREZERE| BJEE 1K BRE
x| 2|5 |ReEBEINIEE EEZmE| RSE R6.1.1 | 34 | R8.12.31 |BEMZERE| BEE P BRE
x| 2|5 |REBREENGE BEZmE| RSE R6.1.1 | 34 [ R8.1231 [BEREZERZE] #iF= K BRE
¥| 2|5 |RETERERSEXMNE EEZmE| RSE R6.1.1 [ 34 | R8.1231 [ERZRE| IKEE iR BRE
| 2| 6 |IROEREBEEEFHAXRTNIEE BEZmE| RSE R6.1.1 | 54 |R10.12.31 |[EEAZERE| #$HES g BRE
X126 |ROFEEREEEHNENEES EEZmE| RSE R6.1.1 | 5 4 [R10.12.31|[EEZERZE| K= Fois BRE
| 2| 7 |RIBEESETIIEKEE BEHZRE| RSE R6.1.1 | 1 & [ R6.12.31 [EERZERZE] #iF5= K RE
X 2|7 |BESEERRRERE ERZxEl EH AE | XE | XTF |ERERE| BEE K BRE
| 2] 7 |REIRBEESEEMNE BEZmE| RSE R6.1.1 | 15 [ R6.12.31 [EERZERZE] #iF= 1R RE
X127 |5ERREHE ERZxEl EH AE | XE | XTF |ERERE| BEE K BRE
x| 2|7 |REZFZVEIREEAETIES BEZmE| RSE R6.1.1 | 5 F [R101231|[EERAZERZE] #iF= 1R RE
X1 2|7 |RESTURIREEK-RAERSRTE ERZRE| RE R6.1.1 | 1 | R6.12.31 |BEMZERE| BEE 1R BRE
Xl 2|7 |EXREAXRREEE ERZREl EH AE | XE | XT |ERZERE| JEE 4K RE
x| 2| 7 |ROEAREAFIHE EEZmE| RE R6.1.1 [ 54 |R10.12.31 |[EERFZERE| HIFEE iR BRE
X[ 2 [ 7 |[REEAREAREHAES BEHZRE| RSE R6.1.1 | 54 |R10.12.31 |[EEAZERE| #$HES K BRE
Xl 2|7 |EXREREGE-ZEE ERZNEl EH XE | XE | XT |ERERE| BEE 1R BRE
7| 4] 2 [XEXRSIE ERZRE| EH RE | RXE XE |ERMZERE| K= o8 BE
4] 2 [ AXEID7MILEEE ERZNEl EH XE | XE | XT |ERERE| BEE 1R BRE
7142 [RoAXEHLE EEHZRE| RE R6.1.1 [ 14 | R6.12.31 |ERFZRE| IFEE iR BRE
71 9] 3 [RoMERECEXEAEIETS EREZ=E| RE R6.1.1 | 5 fF |R10.12.31 |[EEMZERE| PEE 1R BRE
71 9| 3 [RoSERECERIEAR - InKFFEHLE BEEZmE| RSE R6.1.1 | 54 |R10.12.31 |EEAZEERE| $hKE=E iR BRE
79| 3 [RoOVNAEFTEEIMESERE EREZ=E| RE R6.1.1 | 5 fF |R10.12.31 |[BEMZERE| PE=E 1R BRE
719]| 3 [EAFREAEHEEE ERZxE EH RXE | XE | XTE |EFZERE| JEE 1K RE
7112 1 [REEREZLIHEMNZIEE BEHZRE| RSE R611 | 34 | R8.12.31 [EEAZERE| #HEFE Foig BEE
Al 1| 0 |REEHMIGEEH RBRERREE BEHZRE| RE R6.1.1 | 14 | R6.12.31 |EEAZERE| $hKE=E iR BRE
Al 1|0 RELFAERESEESHE EREZ=E| RE R6.1.1 | 1 & [ R6.12.31 [BEEIZERZE| K= i BRE
A1 1] 0 |RoETIRIBSEEEE BEHZRE| REF R6.1.1 | 14 | R6.12.31 |EEAZERE| $hKE=E iR BRE
Al 1] 0 REEHZRFERESEESHE EREZmE| RE R6.1.1 | 1 £ | R6.12.31 [BEEIZERZE| K= A BRE




SHSE (FEE) AXET7MIEEE EmMZERE
BNXENFE RIS [1ERCERTR RE |REHRH| & B T B
EREFER] NXEIT7AILE FrEA |FEE)| £58 | #M| BTH iR DEE| B &
Al 1] 0 [REBEEHEAREN-BREEHRE EREZ=E| RE R6.11 | 1 & [ R6.12.31 [EERMERE iR BRE
A1 1] 0 |ROHEHABHXRGFURE)EEE BEHZRE| RE R611 | 54 |R10.12.31 |[EEAZERE ES iR BRE
Al 1| 0 |REEBEAAEIEEE BEHZRE| RSE R6.1.1 | 54 [R10.1231 BRI ZERE = g BRE
Al 1| 0|RMEEE EEHZRE| REF R6.1.1 | 54 |R10.12.31 |[EEAZERE = 4R RE
A 1] 0 |[1EsmEERA/NNVIVFIRE BEHZRE| RSE R611 | 5 4F [R10.1231 [EEAERZE = g RE
Al 1] 0 [REEHIEEE EEZEmE| RSE R6.11 | XE | *x%F |[EFZRE = b BRE
Al 1] 0 |ROIILEEHZEE EEZ=E| RE R6.1.1 | XF | X¥ |[EFZERE = A BRE
Al 1] 0 |ROIILEEHNIEE EEHZRE| RE R6.1.1 | KF | X¥F |[BEREZERE = b BEZE
Al1]o0 R5i4§§§§1¢* T . BEHZRE| RSE R611 [ XE | *xE |[ERZRE 3 #E BRE
R5|:|§ = EE'JL 'I:IE = %Iii . ) Bk = = o] 5 B
yJ| 1 4 %Eﬁ%%%#l:*iﬁ*ﬁﬁﬂi% E%lﬁlagg R5ﬂE R6.1.1 *IE *;E E%[ﬂa%% 'I%R J%ﬁ
Al 3| 0| LEHMARESEEE EEZmE| RSE R6.1.1 | 1 & [ R6.12.31 [EERZERZE = iR BRE
Al 9] 5 [REZNEEID @R BEHZRE| RSE R61.1 | 34 | R8.12.31 |[EEfAZEXRE = g BRE
H 10| 2 |[REEZEZINELS BRZERZE| RSHE R6.1.1 |10 & [RI15.1231 | ERERE = 4R RE
5 110] 2 |R5EZEEERHINTE BEHZRE| RSE R6.1.1 | 10 % |R15.12.31 |[EEfA =2 = g BRE
Al 10| 4 [R5:EZEEE BERERZE] RE | R6.1.1 |10 F[RI5.1231|EHERE ES 1R BEE
Ali11] 4 |[REEEREE BEHZRE| RSE R6.1.1 | 1 4 | R6.12.31 [BEE ZERE = 4K RE
Al11]| 4 [REEFEEEERZRE EEZmE| RSE R6.1.1 | 14 | R6.12.31 [EEZERE ES Fois BRE
Al11]| 4 [RERFERIBHEERBERE BERERZE] RFE | R6.1.1 | 3F [ R8.12.31 [EEMERZE = iR BEE
A 11| 4 [RERDFEAZRAEHR (- NS EEZmE| RE R6.1.1 | 5 F [R10.1231|[EERER=E = #E BRE
hli11] 4 [REXNES ERZREl EH AE | XE | XT |EWHERE = 1R RE
A 111] 5 |[RoFIEESREIRTE BEHEsRE| RE R6.1.1 [ 10 E [R15.1231 [EER B R = = 1R RE
H117] 3 |OFFEEEREE BEHZRE| RSE R6.1.1 | 54 |R10.12.31 |[EEfAZERE = K BRE
X126 |ROFESGEEEHNHEN EES EEZmE| RE R6.1.1 | 5 F [R10.1231|[EERER=E = iR BRE
| 2| 7 |RESEYYRGEERFEARESIES BEZmE| RSE R6.1.1 | 5 4 [R10.1231[EEREZERE = Fis RE
X127 |RESUYRBZIORER- EREACSRE |BWZRE| RE R6.1.1 | 1% | R6.12.31 [BEEZRE = iR BRE
Xl 2|7 |EXRERXRREE ERZREl EH AE | XE| XT |EWHERE = 1R RE
[ 2 [ 7 |[ROEAREAEFEHAES BEHEZsRE| RE R6.1.1 [ 54 |R10.12.31 |lEE Z R E = Faig BRE
74| 2 [XEFXEFE ERZREl EH xE | XE| XF |EHZERE = iR RE
4] 2 [ AXEID7MILEEE ERZNEl EH XE | XE| XTF |EWERE = iR BRE
7142 [RoAXEHLE EEHZRE| RE R611 | 14 | R6.12.31 |[EEfAZERE = iR BRE
79| 3 [EAEREAEEE ERZREl EH XE | XE| XT |EWMERE = iR BRE
71 9| 3 [RoNERECERIEAREIETE EEHZRE| RE R6.1.1 | 54 |R10.12.31 |[EEfAZERE = iR BRE
7 | 9 | 3 [RoSVERECEREIAFIFHE BEHZRE| RSE R6.1.1 [ 54 |R10.12.31 |lEH Z R E = Faig BRE
7 19| 3 [RoSMERECERIEAR - InKIFELHLE BEHZRE| RE R6.1.1 | 54 |R10.12.31 |[EEfAZERE S #® BRE
79| 3 [RoOVNAEFEEIRESIERE EREZ=E| RE R6.1.1 | 5 fF |R10.12.31 [BEEZRE ES A BRE
7 12| 1 [ROZERLLIFKZETE BEHZRE| RE R611 | 34 | R8.12.31 |[EEAZERE = P BRE
210 0]|F54T7La—4%— ERZREl EH XE | XE| XT |EWHERE 3 BRE
271 1] 1 |Rs RBEMEHLEX R &R BEHZRE| REF R611 | 34 | R8.12.31 |[EEAZERE ioig BRE
21 1] 1|Rs XBLFERE BEHZRE| RSE R6.1.1 | 34 | R8.12.31 [EE ZERZE BRE




SHSE (FEE) AXET7MIEEE EmMZERE
NXENTE RIS [1ERCERTR RE |REHRH| & B RE |HEAD|&mTH
EREFER] NXEIT7AILE RS |F£&EE)| 58 | #E | #&TH g4 BT [ R | OBE| E &
21 2] 1R ZBREED BEHZRE| RSE R6.1.1 | 34 | R8.12.31 |[EEfAZEERE| #HFES Foig BRE
71 2] 3 |R4 MR BLEFEHETESMRZR BEHZRE| RE R6.1.1 | 34 | R8.12.31 BB ZERE| #HESE iR BRE
7123 |RASHEXRBLEIEESH R BEHZRE| RSE R6.1.1 | 34 | R8.12.31 |[EEAZEERE| #$HFES g BRE
7141 | ZeEGETEECEHILIBEHEE ERHZRE| EH XE | XE | XTE |[EFZERE| IEE R BRE
215 | 1 |BEFEEGERITEERMA—F ERZREl EH AE | XE | XT |ERERE| BEE 1R BRE
51 5] 1 |RASIABRERRZ EEZEmE| RSE R6.1.1 | 34 | R8.12.31 BRI ZERE| K= iR BRE
| 1| 3 [REEEE#HET BEHZRE| RSE R6.1.1 | 34 | R8.12.31 |[EEAZEERE| #HES g BRE
71116 [REXBETERESEHEEE EEZEmE| RSE R6.1.1 [ 10 £ |R15.12.31 |EEFZERE| $FEE Foig BEZE
116 [REXEETEREHE BEHZRE| RSE R6.1.1 | 54 |R10.1231 |[EEAZERE| $FKE=E g BRE
1 1] 6 |REEFEHEEERE EEHZRE| REF R6.1.1 | 54 |R10.12.31 |[EEAZERE| #HESE 4R RE
12| 0 |[REEHIEIES BEHZRE| RSE R6.1.1 | XF | X¥F |[EFZERE| IEE 1R BRE
gl 2] o0 [REFEHE EEZmE| RSE R6.1.1 | 5 F [R10.1231|[EERZERZE] #EE 4 FES
7130 RExEBRABE (EMEXHEAZEE BEHZRE| RSE R6.1.1 | 54 |R10.12.31 |[EEAZERE| #$HES g BRE
71 3] 0 [REREIEFMHBHZIETE EEZmE| RSE R6.1.1 | 5 4 [R10.12.31[EEZERZE| K= iR BRE
7141 1 [REZEEHEHIEXTKEZRE BEZmE| RSE R6.1.1 | 54 |R10.12.31 |[EEAZEERE| #$HE= g BRE
1 2] 0 [REEHE, X158 EEZmE| RSE R6.1.1 | 5 4 [R10.12.31[EEZERZE| K= iR BRE
121 0 [GEERTEE ERZREl EH AE | XE | XT |EREZERE| JEE 1R BRE
12| 0 [fIEEEE ERZREl EH XE | XE | FT |[BEEZERE| IEE iR BRE
12| o I EiRE ERZREl EH AE | XE | XT |EFEZERE| BJEE 1R BRE
12| 0 [REGIHWIHEHSRERRESE ERZRE| RE R6.1.1 | 1 | R6.12.31 |BEMZERE| BEE iR BRE
712 | 0 [REEEMEZREERSEEEE BEZmE| RSE R6.1.1 | 14 | R6.12.31 |[EEAZERE| #HES K BRE
7120 |REBLAERSEECHE EEZmE| RE R6.1.1 | 1 & | R6.1231 [EEZRE| JEE iR BRE
1 2] 0 [REEIHIBEEEES BEZmE| RSE R6.1.1 | 1 5 [ R6.12.31 [EERZERZE] #iF= 1R RE
1 2] 0 [REILEFHNIEE EEZmE| RE R6.1.1 | XE | xT |[EBREZERE| JEE iR BRE
120 |EEFTEEEELE ERZREl EH AE | XE | XT |ERZERE| JEE 1R RE
1 2] o |[RE#HRECERE EEZmE| RE R6.1.1 | 34 | R8.12.31 |EERZERE| HIFEE iR BRE
1 2] 0 [REFHE BEHZRE| RSE R6.1.1 | 54 |R10.12.31 |[EEAZERE| #$HES K BRE
1 2| 1 [REEHIEESE EREZ=E| RSE R6.1.1 | XFE | X¥F |[ERZERE| PEE iR BRE
12| 1 [REXRBEHREHEEZIEE EEHZRE| RE R6.1.1 | 34 | R8.12.31 |EEAZEERE| $hKE=E iR BRE
gl 2| 1 [REILEEHZIERE BEHZRE| RSE R6.1.1 [ RE | XE |BREIZRZE| IEE Faig BRE
12| 1 |REYHEHZES BEEZmE| RSE R61.1 [ XFE | XFE |[ERZRE| 3EE 1R BRE
12| 1 [REXEBEREHEEE BEHZRE| RSE R611 | 34 | R8.12.31 [EEAZERE| #HEE Faig BRE
12| 1 [REEBESHEH—EX EEHZRE| RE R6.1.1 | 34 | R8.12.31 |EEAZEERE| $hKE=E iR BRE
12| 1 |ReEEHMEEHE EREZ=E| RE R6.1.1 | XE | kT |[EBRZERE| JEE iR BRE
12| 1 REXBEREHEERDNIEE BEEZmE| RSE R6.11 | XE | *x%F |[EFZERE| 3EE 1R RE
7121 0 [REXRBRBUSHKTEHRERE BEHZRE| RSE R6.1.1 [ RE | XFE |ERZRE| IEE iR BRE
3] 0[5]|Rs —EREREE BHEZEE| RE R6.11 | KE | XF [BEFMZRE| BEE 1R RE
a1 [ 1 [ REBHERAEAER ERZREl EH RXE | XE | XT |ERERE| BEE iR BRE
O 1] 2|R EEBRELRE BERHZRE| RE R6.1.1 | 14 | R6.12.31 |EEAZERE| $hKE=E iR BRE
a1 [ 2 |ZERHEX ERZRE EH XE | XE | XT |ERERE| BEE A BRE




SHSE (FEE) AXET7MIEEE EmMZERE
BNXENFE RIS [1ERCERTR RE |REHE| & B RE |HEAD|&mTH
EREFER] NXEIT7AILE FrEA |FEE)| £58 | #M| BTH g4 BT [ R | OBE| E &
o 1] 2 [WEERERGHEE () EHZERE EH XE | XE| XE |BERZERE| JEBE Foig BRE
3| 1] 3 EBETRH—F ERZREl A XE | XE| XE |ERZEE| JBEE R RE
a1 [ 3 |[BRAXEREREELE ERZREl EH XE | XE | XT |ERERE| BEE A BRE
O] 5|1 |IRRESMERSERE EEZEmE| RSE R6.1.1 | 5 4 |R10.12.31 [lEFZRE| K= b BEZE
3| 5] 1 |REBEFELAICH— h(ﬁ’ﬁﬁ‘*mﬁ) BERZRE| RSE R6.1.1 | XTFE | X¥ |[EFZERE| IEE 1R BRE
3| 5| 1 |R6EE FPR =% (CIBAEE BEHEEE| RAEE | R641 | 1 4 | R7.3.31 [BEZERE| #iE=E Foig BEZE
| 5| 1 |R6EE FERHRGEE E( F&i) B ZERE| RAEE | R641 | 1 4 | R7.3.31 [BEZERE| #E=E g BRE
3|5 1 |ReESE ;ﬂ;@ia%%%(,ﬁﬁﬂﬁ%ﬂ) e Z=E| RSEE | R641 | 1 4F | R7.3.31 |[BBAZEZE| $hiE=E Fois BEZE
a5 1 |REE EEXMHES B ZERE| RAEE | R641 | 14 | R7.3.31 [BEZERE| #E=E g BRE
O[5 1 [REFE BRGHEE BEEZRE| REE | R641 [ 1F | R1331 |[BEZRE| #EE M| EE
3| 5[ 1|REE FaZE$ EEEZERE| RGEE | R641 [ 14 | R7.3.31 |EBMZERE| $HhiEE 1R BRE
3| 5| 1 |RREFERBRICA—FEMRES) e ZmE| RSEE | R641 | 1 £ | R7.3.31 [BBAZEZE| $hiE=E Fois BRE
a5 1 |REFELAICH—FUEEESE) ERHZRE| RSEE | R641 | 5% [ R11331 [BMZERE| $EE g BRE
3| 5| 1 |ReEFERRICA—F(EEEIR) EEZmE| RSE R6.1.1 [ XE | XFE |ERZRE| IEE iR BRE
a5 1 |REE HERKES ERHZRE| RSEE | R641 | 5% [ R11331 [BMEZERE| $EE g BRE
3| 5| 1 |REE EEXHIEE e ZE| RSEE | R641 | 54F [ R11.331 [BBAZERZE| $hiE=E P BRE
3| 5] 1 |R5EE '“‘xﬁﬁy % 5E (B {TERIEE) ERHZRE| RSEE | R641 | 54 [ R11.331 [BMZERE| $EE g BRE
3| 5[ 2 |R5 32%HEEIZ EEZmE| RSE R6.1.1 | 1% | R6.12.31 |BEMZRE| BEE Fois BRE
a[ 5] 2 |R5 80% mnalﬁlAi BEHZRE| RSE R61.1 | 14 | R6.12.31 |[EEAZERE| #$HES g BRE
O 5| 2 |REFEE ERFERHFRGES EERZRE| RSEE | R641 | 14 | R7331 [BRZERE| $HhWE=E K BEE
21512 REFE EIEHAIMEE  |EBMEREF|RSEE | Re41 [ S5F | RIS BMERE| HWEE | # | BX
3|5 | 3[Rt BHARESERBMECRER \pmuns| wm | ke |RE| Kt (BEZEE 8BE | £ | EX
3| 5[ 4R BREBTEMERRHE EEZmE| RE R6.1.1 | 5 4 [R10.12.31|[EEZERZE| K= iR BRE
3l 5] 4[R5 E&Eéﬁ TEHRMEZRIIAERTE BEHZRE| RSE R6.1.1 | 54 |R10.12.31 |[EEAZERE| #$HES K BRE
5|4 | RRETERZSIEHE ERZxE EH XE | XE | FT |[ERZERE| IEE K BRE
o 5] 4[8& ﬁf‘rﬁﬁ%$ﬁlﬂ=ﬁ"x‘ﬁ% BERZxE wEH AE | XE | XT |EREZERE| JEE iR RE
35| 4R FRFIBRNEmERBHE BEHZRE| RSE R611 | 1 4 | R6.12.31 [EEAZERE| #HEE Faig BRE
O] 5| 4 |R5 IR EmAERIIBAERME EEHZRE| RE R6.1.1 [ 14 | R6.12.31 |ERFZRE| IFEE iR BRE
O 5| 4 FREBRNERFIEHZE XM E ERZNEl EH XE | XE | XT |ERERE| BEE iR BRE
o] 5[ 4 FREBNERBRIELRE ERZREl EH XE | XE| FxT |[EFZERE| 3EE 1R RE
| 5[4 |R REwEEMMBERIIAERGE EREZ=E| RE R6.1.1 | 5 fF |R10.12.31 |[EEMZERE| PEE iR BRE
O[5 4|R REXRERBTERETERE EEHZRE| RE R61.1 | 14 | R6.12.31 |[EEAZERE| #HES iR BRE
a[ 5] 5]|R5 .—,uanﬁié%‘%%aﬁ%%f _ BEHZRE| RSE R6.11 | 54 |R10.1231|[EEAZERZE]| #HEE K BRE
- 5 6 g %“BE&**E@EZ1%%*E$EHD%Eu#ﬁrﬂanﬁ E.%lt_ﬂ%g% R5ﬂ£ R611 15‘5 R61231 E.%lﬁl%g% #A%%E ':{f“_& rg%ﬁ
O[5 7|R BITEIBIMBITHRHEE BEHZRE| RSE R6.1.1 | 34 | R8.12.31 |[EEfAZEERE| #HFES g BRE
3| 5| 8 |RS EIEFrEREENIRE EERZRE| RE R6.1.1 [ 14 | R6.12.31 |ERFZRE| $IFEE iR BRE
3| 5| 8 |RS EXHFFA[HEE BEHZRE| RSE R6.1.1 | 14 | R6.12.31 |[EERIZERE| #IFE K BRE




SIREREHEEHERSE

SHMSE(EE)ANET7AILEEE EmMZERE
NXENTE RIS [1ERCERTR RE |REHRH| & B RE |HEAD|&mTH
EREFER] NXEITFAILE RS |F£&EE)| 58 | #E | #&TH B4 BT [ R | OBE| E &
H [ 1[0 |REEEGFHFIERITEE BEHZRE| RSE R6.1.1 [ 14 | R6.12.31 |[EERIZERE| #IFE K BRE
| 1] 0 [REXHFEBAE EEZmE| RSE R611 | 14 | R6.12.31 |[EEAZERE| #HESE iR BRE
Y1 1] 0 |REEABBREANESIESE ERZREl EH XE | XE | XT |ERERE| BEE #R BRE
Y1 1|1 |REIBIIEFSEE-NSFAHBESRESE BERHZRE| RE R6.1.1 | 54 |R10.12.31 |[EEAZERE| #HESE 4R RE
11| 2 |RSESER SR AT Al S _ |BEERE] RSE | R6I1 | 1F [R6.1231 [BAZRE| BWBE | # | BE
| 1| 4 [ROUERMMERES RECSORERS \pmuns| ror | oLl | 54 [RI0120 | BAEEE| WBE | £ | EX
Y1 1| 4 |REFERHICRIEBEEGERFIURMERE e Z=E| RSEE | R641 | 54 [ R11.331 [BBAZEE| $hiE=E 4K BRE
4| 2 | 0 |REEIFHFZEREIAR BEHZRE| RSE R6.1.1 | 54 |R10.12.31 |[EERFZERE| #IF=E 1R BRE
S| 2| 1 |IREEEREGTEFAR EERZRE| RSEE | R641 | 34 | RI33 [BHERE| $HEE Foig BEZE
Y| 6| 0 |REREEEHARZTIEE BEHZRE| RSE R6.1.1 [ XFE | XFE |[ERZRE| 3EE 1R BRE
Y] 6| 0 |IREEFEERENZERRREE BEHEZEsRE| RE R6.1.1 | KFE | X¥* |[BERZERE| BEE P BEZE
74| 2 [XEFEFE ERZREl EH AE | XE | XT |EREZERE| BJEE iR BRE
7| 4] 2 [REANEHELE EEZmE| RSE R6.1.1 | 1 f | R6.1231 [BEEZRE| JEE K BRE
74| 2 [AXETF7MILEES ERZREl EH AE | XE | XT |EFERE| JEE iR BRE
79| 3 [EAEREAEHEEE ERZEE| ¥H XE | XE | FT |[EBEZERE| IEE iR BRE
719 [ 3 [RoNEEIREAREIRE BEZmE| RSE R6.1.1 | 54 |R10.12.31 |[EEAZERE| #$HES K BRE
7| 9| 3 [Ro4ERECERIEAFIAE EEZmE| RSE R6.1.1 | 5 4 [R10.12.31|[EEZERZE| K= K BRE
7 19| 3 [RoNEFELERIEAR - InKEBHHLE BEEZmE| RSE R6.1.1 | 54 |R10.12.31 |[EEAZERE| #$HES K BRE
71 9|3 [RELAAEFTEIEKEIES EEZmE| RE R6.1.1 | 54 |R10.1231 |EEAELRE| K= K BEE
7 12| 1 [REZERLLHAXZEE FERMZERZE| RS54 R6.1.1 | 34 | R8.12.31 |[EEAZERE| #HES A BRE
o] o [F54TLa—4%— ERZEE| ¥H XE | XE | XTF |EWMERE| HA 3 BRE
| 1 [ 1 [REKERERESE BEHZRE| RSE R61.1 | 14 | R6.12.31 |[EEAZERE| #$HES Foig BRE
Dl 2] 4 [BIHSELAREN EEZmE| RE R6.11 | 14 [ R6.12.31 [EEEZERE| HKE iR BRE
1 8| 1 [RoGIHMIEEHRBRERREE BEHZRE| RSE R6.1.1 | 14 | R6.12.31 |[EEAZERE| #$HES K BRE
| 8| 1 [REEGLABTEELEEHEHE EEZmE| RE R6.1.1 [ 14 | R6.12.31 |EERZERE| HIFEE K BRE
| 8| 1 [RERIFIBEEEES BEHZRE| RSE R6.1.1 | 15 [ R6.12.31 [EERZERZE] #iF= 1R RE
L1 8| 1 [REEEHAZREEREEEHE BEHZRE| RSE R6.1.1 | 14 | R6.12.31 [EEEZERZE| #iF=E Faig BRE
>8] 1 |[ReFEHE EEHZRE| RE R6.1.1 | 54 |R10.12.31 |EEAZEERE| $hKE=E iR BRE
8|1 [iBEFTEEEEE ERZNEl EH XE | XE | XT |ERERE| BEE iR BRE
|l 8 [ 1 IR ESE ERZREl EH AE | XE | XTE |EFZERE| JEE 1R RE
8 [ 1 [GIiMH-EIEE ERZREl EH AXE | XE | XT |ERERE| BEE iR BRE
8| 1 [GIinhEEinsE ERZREl EH RXE | XE | XTE |EFZERE| JEE 1R RE
v 8| 1[BBG EIES ERZNEl EH XE | XE | XT |ERERE| BEE iR BRE
| 8] 1 [REZERANREEHIGEE ERZEE| RE R6.11 | XE | *x%F |[EFZERE| 3EE 1R RE
| 8| 1 [REEHIEIERE BEHZRE| RSE R6.1.1 [ RE | XFE |BREIZRZE| IFE K BEE
21811 IRSTRGFRE _ BEERE| RE | R6IT | KRE | RE |[HBEZEE| SF=E | i | BEX
vl 8| 1 [DEF RIS SRERBAIER \pmens| re | RoL | RE| KE |BEERE| Bz | 8 | B




